





Installing the Upper System Board and Power Supply Board

To install the T4700CS/T4700CT/T4800CT’ s upper system board and power supply board,
follow the steps below and refer to figures 4-25 through 4-27.

1. Connect the power supply board to the upper system board (figure 4-27).
2. Placethe upper system board on the lower system board, (figure 4-26).

3. Alignthetwo joint connectors (PJ11 and PJ12), then gently press the upper
system board to connect them (figure 4-26).

4. Connect the power/reset cableto PJ17 on the upper system board and secure it
with tape (figure 4-26).

5. Setinplacethe FDD metal cover, right hinge cover and upper system board
cover (figure 4-25).

6. Securethe upper system board cover with five M 2.5x6 screws and set the | eft
hinge cover, then apply the tape (figure 4-25).

7. Instal the display assembly, backup battery, microphone, status indicator pand,
keyboard, top cover, HDD pack, optional PCMCIA card, optional memory card
and battery pack as described in sections 4.10, 4.9, 4.8, 4.7, 4.6, 4.5, 4.4, 4.3 and
4.2.

4-28 T4700CS, T4700CT, T4800CT




4.12 Base Assembly, Power/Reset Board

Removing the Base Assembly

To remove the T4700CS/T4700CT/T4800CT’ s base assembly, follow the steps below and
refer to figures 4-28 and 4-31.

1. Turn off the power to the T4700CS/T4700CT/T4800CT. Disconnect the AC
adapter, power cord and all external cables connected to the T4700CS/T4700CT/
T4800CT.

2. Remove the battery pack, optional memory card, optional PCMCIA card, HDD
pack, top cover, keyboard, backup battery, microphone, display assembly, upper
system board, and power supply board as described in sections 4.2, 4.3, 4.4, 4.5,
46,4.7,4.8,4.9,4.10, and 4.11.

3. Open the cover to PCMCIA dlot 2 and remove the M 2.5x4 silver screw, securing
the cover (figure 4-28). Set the cover aside.

M2.5x4 silver screw

Figure 4-28 Removing the PCMCIA slot cover

T4700CS, T4700CT, T4800CT 4-29




-30

Stand the T4700CS/T4700CT/T4800CT on its back side and grasp the computer
with your hand covering the base assembly. While holding the computer with one
hand to steady it and to protect the base assembly, remove two M 2.5x6 silver
screws and one M 2.5x12 silver screw on the bottom of the computer (figure 4-
29).

Bottom cover

M2.5x6 silver screws

\%/M2.5x1 2 silver screw

Figure 4-29 Removing the screw securing the base assembly

Remove the M 2.5x6 screw, at the left front corner, securing the base assembly to
the bottom cover (figure 4-30).

Pressthe FDD gject button so that it clears the bottom cover and lift up the front
of base assembly (figure 4-30).

After lifting up the front of the base assembly, open the I/O port cover on the
bottom cover and pry the I/O port frame dlightly away from the base assembly to
separate the base assembly from the bottom cover and lift the power /reset board
out of the bottom cover (figure 4-30).

Power/reset boar

M2.5x6 screw\?

i/O port cover

Base assembl

FDD eject butto

Figure 4-30 Removing the base assembly

T4700CS, T4700CT, T4800CT




8. Disconnect the power/reset cable from the power/reset board (figure 4-31).

Power/reset board

Power/reset cable

Figure4-31 Removing the power/reset cable

T4700CS, T4700CT, T4800CT 4-31




Installing the Base Assembly

To install the T4700CS/T4700CT/T4800CT’ s base assembly and power/reset board, follow
the steps below and refer to figures 4-28 through 4-32.

1.

2.

Connect the power /reset cable to the power/reset board (figure 4-31).

Seat the power/reset boar d inside its brackets on the bottom cover, then fold the
power /reset cable down into the slot in front of the system board. Leave about 2
cm extending out of the slot (figure 4-32).

Figure 4-32 Power/reset cable setting

Fit the I/O port connector side of the base assembly into the bottom cover. Then,
make sure the power /reset cable extends through the notch on the base assembly
and lay the base assembly into the bottom cover. Pressthe FDD gject button so
the base assembly can clear the bottom cover (figure 4-30).

Secure the base assembly’ s front-left corner with one M 2.5x6 screw (figure 4-30).

Secure the two M 2.5x6 silver screws and one M 2.5x12 silver screw on the
bottom cover (figure 4-29).

Securethe PCM CI A dot 2 cover with one M 2.5x4 silver screw and close the
slot cover (figure 4-28).

Install the power supply board, upper system board, display assembly, backup
battery and microphone, status indicator panel, keyboard, top cover, HDD, op-
tional PCMCIA card, optiona memory card and battery pack as described in
sections 4.11, 4.10, 4.9, 4.8, 4.7, 4.6, 4.5, 4.4, 4.3 and 4.2.

T4700CS, T4700CT, T4800CT




4.13 Floppy Disk Drive

Removing the Floppy Disk Drive

To remove the T4700CS/T4700CT/T4800CT’ s floppy disk drive, follow the steps below and
refer to figures 4-33 through 4-35.

1. Turn off the power to the T4700CS/T4700CT/T4800CT. Disconnect the AC
adapter, power cord and all external cables connected to the T4700CS/T4700CT/
T4800CT.

2. Remove the battery pack, optional memory card, optional PCMCIA card, HDD
pack, top cover, keyboard, status indicator panel, backup battery and microphone,
display assembly, upper system board, power supply board, and base assembly as
described in sections 4.2, 4.3, 4.4, 4.5, 4.6, 4.7, 4.8, 4.9, 4.10, 4.11 and 4.12.

3. Disconnect the FDD cable from PJ304 of the lower system board (figure 4-33).

FDD cable

FDD unit

Figure 4-33 Disconnecting the FDD cable

T4700CS, T4700CT, T4800CT 4-33




-34

4. Turn over the base assembly and remove the two M 2.5x6 screws, securing the
BPQP port (figure 4-34).

M2.5x6 screws

Figure 4-34 Removing BPQP port screws

5. Removethefour M 2x4 screws, securing the FDD and lift the base assembly off
the FDD (figure 4-35).

M2x4 screws

M2x4 screw

Figure 4-35 Removing the FDD

T4700CS, T4700CT, T4800CT



Installing the Floppy Disk Drive

To install the T4700CS/T4700CT/T4800CT’ s floppy disk drive, follow the steps below and
refer to figures 4-33 through 4-35.

1.

Place the FDD in the base assembly and, holding the FDD with your hand so it
doesn't fall out, turn the base assembly over.

Secure the FDD with the four M 2x4 screws (figure 4-35).

Secure the BPQP port with two M 2.5x6 screws to the base assembly (figure 4-
34).

Connect the FDD cable to pressure plate connector PJ304 on the lower system
board (figure 4-33).

Install the base assembly, power supply board, upper system board, display assem-
bly, backup battery and microphone, status indicator panel, keyboard, top cover,
HDD, optional PCMCIA cards, optional memory card and battery pack as de-
scribed in sections 4.12, 4.11, 4.10, 4.9,4.8, 4.7, 4.6, 4.5, 4.4, 4.3 and 4.2.

T4700CS, T4700CT, T4800CT 4-35




4.14 Speaker, RTC Battery, BPQP Port

Removing the Speaker, RTC Battery, BPQP Port

To remove the T4700CS/T4700CT/T4800CT’ s speaker, RTC battery and BPQP port, follow
the steps below and refer to figures 4-36 through 4-38.

1.

4-36

Turn off the power to the T4700CS/T4700CT/T4800CT and disconnect the AC
adapter, power cord, and all external cables connected to the T4700CS/T4700CT/
T4800CT.

Remove the battery pack, optional memory card, optiona PCMCIA card, HDD
pack, top cover, keyboard, status indicator panel, backup battery and microphone,
display assembly, upper system board, power supply board, and base assembly as
described in sections 4.2, 4.3, 4.4, 4.5, 4.6, 4.7, 4.8, 4.9, 4.10, 4.11 and 4.12.

Turn the base assembly upside down.

Remove two M 2.5x6 screws securing the BPQP port, if they were not removed
earlier.

Remove three M 2.5x6 screws securing the speaker’s metal cover. Then, lift up
the left side to disengage two latches on the right side and remove the cover
(figure 4-36).

M2.5x6 screws

Figure 4-36 Removing the speaker’s metal cover

T4700CS, T4700CT, T4800CT




6. Removetwo M 2x6 screws securing the PCM CI A dot 2 connector board at the
corners. Do not remove the two screws at the middle edges of the board (figure
4-37).

7. Disconnect thetwo PCM CIA dot 2 connector s from the lower system board
and lift out the PCMCIA dlot 2 connectors board (figure 4-37).

PCMCIA slot 2 connector

PCMCIA slot 2

connector board 2x6 screws

Figure 4-37 Removing the PCMCIA slot 2 connector board

8. Disconnect the speaker, RTC battery, and BPQP port cable from the each
connector of the PCM CIA dot 2 connector board (figure 4-38).

PCMCIA slot 2
connector board

BPQP port cable

Speaker RTC battery

Figure 4-38 Disconnecting the speaker, RTC battery, and BPQP port cable

T4700CS, T4700CT, T4800CT 4-37



Installing the Speaker, RTC Battery, BPQP port

To install the T4700CS/T4700CT/T4800CT’ s speaker, RTC battery, and BPQP port, follow
the steps below and refer to figures 4-36 through 4-38.

1.

Connect the speaker, RTC battery, and BPQP port cableto PCMCIA dot 1
board (figure 4-38).

Seat the PCM CI A dot 2 board with speaker, RTC battery, and BPQP port
attached, then connect the two PCM CI A dot 2 connectorsto the lower system
board (figure 4-37).

Secure the PCMCIA dot 2 board with two M 2x6 screws, then set the speaker,
RTC battery and BPQP port in place. Make sure insulation for the speaker cables
goes on top of the cables (figure 4-37).

Fit the right side of the speaker’s metal cover into the latches on the base assem-
bly and secure the cover with two M 2.5x6 screws (figure 4-36).

Secure the BPQP with two M 2.5x6 screws.
Install the base assembly, power supply board, upper system board, display assem-
bly, backup battery and microphone, status indicator panel, keyboard, top cover,

HDD, optional PCMCIA cards, optional memory card and battery pack as de-
scribed in sections 4.12, 4.11, 4.10, 4.9,4.8, 4.7, 4.6, 4.5, 4.4, 4.3 and 4.2.

T4700CS, T4700CT, T4800CT




4.15 Lower System Board

Removing the Lower System Board

To remove the T4700CS/T4700CT/T4800CT’ s lower system board, follow the steps below
and refer to figures 4-39 through 4-41.

1. Turn off the power to the T4700CS/T4700CT/T4800CT and disconnect the AC
adapter, power cord, and all external cables connected to the T4700CS/T4700CT/
T4800CT.

2. Remove the battery pack, optional memory card, optional PCMCIA card, HDD
pack, top cover, keyboard, status indicator panel, backup battery and microphone,
display assembly, upper system board, power supply board, base assembly, and
PCMCIA dot 2 board as described in sections 4.2, 4.3, 4.4, 4.5, 4.6, 4.7, 4.8, 4.9,
4.10,4.11 4.12, and 4.14.

3. Disconnect the FDD cable from PJ304 of the lower system board, if they were
not disconnected earlier.

4. Removethree M 2.5x6 screws securing the lower system board’s metal cover,
then lift it off the lower system board’s metal cover (figure 4-39). Be careful to
clear two audio ports projecting sightly through holes in the cover.

2.5x6 screws

Lower system board's
metal cove

Figure 4-39 Removing the lower system board’s metal cover

T4700CS, T4700CT, T4800CT 4-39




4-40

5.  Remove one M 2.5x6 screw and two M 2x6 screws, securing the lower system
board and lift it out of the base assembly frame (figure 4-40).

Figure 4-40 Removing the lower system board

6. Disconnect the sound system board from lower system board (figure 4-41).

Figure 4-41 Removing the sound system board

T4700CS, T4700CT, T4800CT




Installing the Lower System Board

To install the T4700CS/T4700CT/T4800CT’ s lower system board, follow the steps below
and refer to figure 4-39 through 4-41.

1. Connect the sound system board to lower system board, then place the lower
system board on the base assembly frame (figure 4-41).

2. Securethelower system board with one M 2.5x6 screw and two M 2x6 screws
(figure 4-40).

3. Setthelower system board’s metal cover in place. Be sure thetwo audio ports
extend through holesin the cover (figure 4-39).

4. Ingtall the PCMCIA dot 2 board, base assembly, power supply board, upper
system board, display assembly, backup battery and microphone, status indicator
panel, keyboard, top cover, HDD, optional PCMCIA cards, optional memory card
and battery pack as described in sections 4.14, 4.12, 4.11, 4.10, 4.9, 4.8, 4.7, 4.6,
45,4.4,4.3and 4.2.

T4700CS, T4700CT, T4800CT 4-41




4.16 Display Mask

Removing the Display Mask

To remove the T4700CS/T4700CT/T4800CT’ s display mask, follow the steps below and
refer to figure 4-42.

1.

4-42

Turn off the power to the T4700CS/T4700CT/T4800CT and disconnect the AC
adapter, power cord, and all external cables connected to the T4700CS/T4700CT/
T4800CT.

Remove the battery pack and top cover as described in Sections 4.2 and 4.6.

Remove two rubber cushions from the top corners of the display to expose two
screws securing the display mask (figure 4-42).

Remove the two M 2.5x6 screws that were covered by the cushions (figure 4-42).

Carefully insert your fingers between the mask and the LCD panel and pry open
the latches. Start with the six latches across the top of the display mask (figure 4-
42).

Continue unlatching the mask along the sides (three latches on each side), at the
bottom (two latches) and the display supports, one latch at the small support
and two latches at the larger support (figure 4-42).

Rubber cushion

Figure 4-42 Removing the display mask

T4700CS, T4700CT, T4800CT




Installing the Display Mask

1. Setthedisplay mask in place and secure the snaps beginning with the three snaps
in the display supports (two in the larger support and one in the small support
(figure 4-42).

2. Continue along the bottom of the display (two snaps), along the sides (three
snaps) and across the top (six snaps) (figure 4-42).

3. Secure the cover with two M 2.5x6 screws at the top corners (figure 4-42).

4. Attach the two rubber cushions at each top corner to cover the screws (figure 4-
42).

5. Ingtall the top cover and battery pack as described in sections 4.6 and 4.2.

T4700CS, T4700CT, T4800CT 4-43




4.17 T4700CS FL Inverter Board

Removing the T4700CS FL Inverter Board
To remove the T4700CS's FL inverter board, follow the steps below and refer to figure 4-43.

1. Turn off the power to the T4700CS. Disconnect the AC adapter, and all external
cables connected to the T4700CS.

2.  Remove the battery pack, top cover, and display mask as described in sections 4.2,
4.6, and 4.16.

3. Removethe two M 2.5x6 screws securing the FL inverter board (figure 4-43).

4. Carefully rotate the FL inverter board out from right to left and disconnect the
FL inverter cable from CN1 and the FL cablesfrom CN2 (figure 4-43).

M2.5x6 screws

FL inverter board

Figure 4-43 Removing the FL inverter board (T4700CS)

4-44 T4700CS, T4700CT, T4800CT



Installing the T4700CS FL Inverter Board
To install the T4700CS's FL inverter board, follow the steps below and refer to figure 4-43.

1. Connectthe FL inverter cableto CN1 ontheinverter board and the FL cables
to CN2 (figure 4-43).

2. Route the cables so they are not pinched by the FL inverter board, display
hinge or other component.

3. Replacethe FL inverter board and secure it with the two M 2.5x6 screws (figure
4-43).

4. Install the display mask, top cover, and battery pack as described in sections 4.16,
4.6 and 4.2.

T4700CS, T4700CT, T4800CT 4-45



4.18 T4700CS LCD Module

Removing the Color LCD Module

To remove the T4700CS's color LCD module, follow the steps below and refer to figure 4-
44,

1.  Turn off the power to the T4700CS. Disconnect the AC adapter, power cord and
all external cables connected to the T4700CS.

2.  Remove the battery pack, top cover, display mask, and FL inverter board as
described in sections 4.2, 4.6, 4.16 and 4.17.

3.  Removethefour M 2.5x6 screws securing the LCD module to the LCD cover
(figure 4-44).

4. Carefully rotate the LCD module from right to left out of the display cover and
disconnect the three display cables from the LCD module (figure 4-44).

M2.5x6 screw

Figure 4-44 Removing the LCD module (T4700CS)

4-46 T4700CS, T4700CT, T4800CT




Installing the T4700CS LCD Module
To install the T4700CS' s LCD module, follow the steps below and refer to figure 4-44.

1. Connect the three display cablesto the LCD module, and carefully rotate the
LCD moduleto the LCD cover.

2.  Securethe four M 2.5x6 screws on the LCD module.

3. Instal the FL inverter board, display mask, top cover and battery pack as de-
scribed in sections 4.17, 4.16, 4.6 and 4.2.

T4700CS, T4700CT, T4800CT

4-47



4.19 T4700CS Fluorescent Lamp (FL)

CAUTION: When you remove the FL, be careful not to let any dust or other
foreign matter enter the display panel components.

Removing the T4700CS FL

To remove the T4700CS's FL, follow the steps below. Refer to figures 4-45 through 4-47.

1. Turn off the power to the T4700CS. Disconnect the AC adapter, and all external
cables connected to the T4700CS.

2. Remove the battery pack, top cover, display mask, FL inverter board, and LCD
module as described in sections 4.2, 4.6, 4.16, 4.17, and 4.18.

3. Lay thecolor LCD module face down and use needle-nose pliers to unbend the
16 latches holding the front and back frames together. Then, lift the unit out of
the front frame (figure 4-45).

n ) o) ) -
& HA@‘ = = = o

0 22

{

i}

7~ N NN

= ; S =Y

/ T U

Figure 4-45 Unbending the color LCD module latches (T4700CS)

4-48 T4700CS, T4700CT, T4800CT



4. Remove the four M2x3 screws securing the FL unit and FL unit cover to the
back frame (figure 4-46).

M2x3 screws

FL unit cover

FL unit

Figure 4-46 Removing the FL screws (T4700CS)

5.  Lift up the reflective sheet covering the LCD module.

6. Lift out the FL (figure 4-47).

CAUTION: When you remove the FL, do not lift up the FL panel, which is
attached to the reflective sheet covering the FL. The FL panel is highly sensitive
to dust, so be very careful not to expose it.

FL

FL panel

Figure 4-47 Removing the FL (T4700CS)

T4700CS, T4700CT, T4800CT 4-49



Installing the T4700CS FL Unit

To install the T4700CS's FL unit, follow the steps below and refer to figures 4-45 through 4-
47.

1. PlacetheFL onthe FL unit and cover the FL using areflective sheet (figure 4-
47).

2. Securethe FL unit cover with four M 2x3 screws (figure 4-46).
3. Carefully bend the 16 latches back into place (figure 4-45).

4. Ingtall the color LCD module, FL inverter board, display mask, top cover, and
battery pack as described in sections 4.18, 4.17, 4.16, 4.6 and 4.2.

4-50 T4700CS, T4700CT, T4800CT




4.20 T4700CS FL Inverter Cable, Display Cable

Removing the FL Inverter Cable, Display Cable

To remove the T4700CS' s FL inverter cable, display cable, follow the steps below and refer
to figures 4-48 and 4-49.

1.  Turn off the power to the T4700CS. Disconnect the AC adapter, power cord and
all external cables connected to the T4700CS.

2. Remove the battery pack, top cover, display mask, FL inverter board, LCD mod-
ule, and FL as described in sections 4.2, 4.6, 4.16, 4.17, 4.18 and 4.19.

3.  Removethetape, securing the FL inverter cable on display cover (figure 4-48).

4. Disconnect the FL inverter cable from PJ2 from upper system board (figure 4-
48).

Figure 4-48 Removing the FL inverter signal cable (T4700CS)

T4700CS, T4700CT, T4800CT 4-51




5.  Remove the two M 2.5x6 screws, securing the display hinge and one M 2.5x6
screw securing the ground cable (figure 4-49).

6. Removethe display hinge and lift off the display cable (figure 4-49).

M2.5x6 screws

Display cable

Figure 4-49 Removing the display cables (T4700CS)

Installing the FL Inverter Cable, Display Cable

To install the T4700CS's FL inverter cable, display cable, follow the steps below and refer to
figures 4-48 and 4-49.

1. Fitthedisplay cableto the display cover and secure the display hinge with two
M 2.5x6 screws. Secure the ground cable to the display cover with one M 2.5x6
screw (figure 4-49).

2. Connect the FL inverter cable to PJ2 of the upper system board, and secure it
with tape to the display cover (figure 4-48).

3. Ingtdl the FL, LCD module, FL inverter board, display mask, top cover, and
battery pack as described in sections 4.2, 4.6, 4.16, 4.17, 4.18 and 4.19.

4-52 T4700CS, T4700CT, T4800CT




4.21 T4700CT/T4800CT TFT Color LCD Module

Removing the TFT Color LCD Module

To remove the T4700CT/T4800CT’ s LCD module, follow these steps and refer to figures 4-
50 and 4-51.

1. Turn off the power to the T4700CT/T4800CT. Disconnect the AC adapter,
power cord and all external cables connected to the T4700CT/T4800CT.

2.  Remove the battery pack, top cover and display mask as described in sections 4.2,
4.6 and 4.16.

3. Removefour M 2.5x10 screws and two M 2.5x6 screws securing the LCD mod-
ule to the LCD cover (figure 4-50).

4. Remove the tape, securing the FL inverter cable, and disconnect the FL cable
from CN2 . Then turn over the LCD module (figure 4-50).

M2.5x6 screw
M2.5x6 screw

M2.5x10 SCFQW\@
|
|

[ S

M2.5x10 screw

CN2 FL cable

Figure 4-50 Removing the six screws and connectors (T4700CT/T4800CT)

T4700CS, T4700CT, T4800CT 4-53



Disconnect the two cables from CN11 and CN12 on the LCD module (figure 4-
51).

Cables

Figure 4-51 Disconnecting the two cables (T4700CT/T4800CT)

Installing the TFT Color LCD Module

To install the T4700CT/T4800CT’'s TFT color LCD module, follow the steps below and refer
to figures 4-50 and 4-51.:

1.

4-54

Connect the two display cablesto CN11 and CN12 on the LCD module (figure
4-51).

Connect the FL cableto CN2 on the FL inverter board and secure the tape
(figure 4-50).

Align the LCD module and then secure it with two M 2.5x6 screws, and secure
the four M 2.5x10 screws (figure 4-50).

Install the battery pack, top cover and display mask as described in sections 4.2,
4.6 and 4.16.

T4700CS, T4700CT, T4800CT




4.22 T4700CT/T4800CT Fluorescent Lamp (FL) Unit

Removing the FL Unit

CAUTION: When you remove the FL unit, be careful not to let any dust or other
foreign matter from contaminating the LCD panel. Any contamination can affect
the performance of the unit.

To remove the T4700CT/T4800CT’ s FL unit, follow the steps below and refer to figure 4-52:

1.

Turn off the power to the computer. Disconnect the AC adapter, and all externd
cables connected to the computer.

Remove the battery pack, top cover, display mask and TFT color LCD module as
described in sections 4.2, 4.6, 4.16, and 4.21.

Place the FL unit face down and remove the four M 2x6 silver screws (figure 4-
52).

Lift the FL unit out of the frame (figure 4-52).

M2x6 silver screws .
2x6 silver screws

Figure 4-52 Removing the FL unit (T4700CT/T4800CT)

Installing the FL Unit

To install the T4700CT/T4800CT’s FL unit, follow the steps below.

1.

Replace the FL unit in the frame and secure it with the four M 2x6 silver screws
(figure 4-52).

Install the TFT color LCD module, the display mask, top cover, and the battery
pack as described in sections 4.2, 4.6, 4.16, and 4.21.

T4700CS, T4700CT, T4800CT 4-55




4.23 T4700CT/T4800CT FL Inverter Board

Removing the FL Inverter Board

To remove the T4700CT/T4800CT’s FL inverter board, follow the steps below and refer to
figure 4-53.

1. Turn off the power to the computer. Disconnect the AC adapter, and al externa
cables connected to the computer.

2. Remove the battery pack, top cover, display mask and the TFT color LCD module
asdescribed in 4.2, 4.6, 4.16, and 4.21.

3. Removethe two M 2¥5 screws securing the FL inverter board (figure 4-53).

4. Disconnect the FL inverter cable from the CN1 and lift out the FL inverter
board (figure 4-53).

M2x5 screws

FL inverter board

CN1

FL inverter cable

Figure 4-53 Removing the FL inverter board (T4700CT/T4800CT)

Installing the FL Inverter Board

To install the T4700CT/T4800CT’s FL inverter board, follow the steps below and refer to
figure 4-53.

1. Connect the FL inverter cableto the CN1 of the FL inverter board (figure 4-53).

2. Replacethe FL inverter board and secure it with the two M 2¥5 screws (figure 4-
53).

3. Ingtdl the TFT color LCD module, display mask, top cover and battery pack as
described in sections 4.2, 4.6, 4.16, and 4.21.

4-56 T4700CS, T4700CT, T4800CT



4.24 T4700CT/T4800CT FL Inverter Cable, Display Cable

Removing the FL Inverter Cable, Display Cable

To remove the T4700CT/T4800CT’s FL inverter cable, display cable, follow the steps below
and refer to figures 4-54 and 4-55.

1.  Turn off the power to the T4700CT/T4800CT. Disconnect the AC adapter,
power cord and all external cables connected to the T4700CT/T4800CT.

2. Remove the battery pack, top cover, display assembly, display mask, and TFT
color LCD module as described in sections 4.2, 4.6, 4.10, 4.16, and 4.21.

3.  Removethetapes, securing the FL inverter cable on display cover and discon-
nect the FL inverter cable from CNL1 of the FL inverter board (figure 4-54).

4. Disconnect the FL inverter cable from PJ2 from upper system board (figure 4-
54).

FL inverter cable PJ2

Figure 4-54 Removing the FL inverter signal cable (T4700CT/T4800CT)

T4700CS, T4700CT, T4800CT 4-57



5. Remove the one M 2.5x6 screw, securing the display hinge and one M 2.5x4 screw
securing the ground cable (figure 4-55).

6. Remove the display hinge and lift off the display cable (figure 4-55).

M2.5x6 screw
M2.5x4 screw

Figure 4-55 Removing the display cables (T4700CT/T4800CT)

Installing the FL Inverter Cable, Display Cable

To install the T4700CT/T4800CT’s FL inverter cable, display cable, follow the steps below
and refer to figures 4-54 and 4-55.

1. Fitthedisplay cableto display cover and secure the display hinge with one
M 2.5x6 screw. Secure the ground cable to display cover with one M 2.5x4
screw (figure 4-55).

2. Connect the FL inverter cableto CN1 of the FL inverter board and PJ2 of the
upper system board, and secure it with tape to display cover (figure 4-54).

3. Ingtal the TFT color LCD module, display mask, display assembly, top cover, and
battery pack as described in sections 4.2, 4.6, 4.10, 4.16, and 4.21.

4-58 T4700CS, T4700CT, T4800CT




4.25 Panel Close Switch

Removing the Panel Close Switch

To remove the T4700CS/T4700CT/T4800CT’ s panel close switch, follow the steps below
and refer to figure 4-56.

1. Turn off the power to the T4700CS/T4700CT/T4800CT. Disconnect the AC
adapter, power cord and all external cables connected to the T4700CS/T4700CT/
T4800CT.

2. Remove the battery pack, top cover, display assembly, as described in sections 4.2,
4.6, and 4.10.

3. Removethe M 2x8 screw, securing the panel close switch on display hinge
(figure 4-56).

Display hinge

Panel close switch

M2x8 screw

Figure 4-56 Removing the panel close switch

Installing the Panel Close Switch

To install the T4700CS/T4700CT/T4800CT’s panel close switch, follow the steps below and
refer to figure 4-56.

1. Fitthe pand close switch to display hinge and secure the panel close switch
with one M 2x8 screw (figure 4-56).

2. Indgtall the display assembly, top cover, and battery pack as described in sections
4.2, 4.6, and 4.10.

T4700CS, T4700CT, T4800CT 4-59




4-60 T4700CS, T4700CT, T4800CT




Appendix A Handling the LCD Module

Precautions for handling the T4700CS/T4700CT/T4800CT LCD module

The T4700CS/T4700CT/T4800CT’ s LCD module can be easily damaged during assembly or
disassembly. Observe the following precautions when handling the LCD module:

1.When installing the LCD module in the LCD cover, be sureto seat it so that it is properly
aligned and maximum visbility of the display is maintained.

oK
4

2.Be careful to align the holes at the four corners of the LCD module with the corresponding
holesin the LCD cover before securing the module with screws. Do not force the
module into place, because stress can affect its performance.

Also, the panel’s polarized surface is easily scarred, so be careful when handing
it.

App-1



3. If the pandl’s surface gets dirty, wipe it with cotton or a soft cloth. If itisstill
dirty, try breathing on the surface to create a light condensate and wipe it again.

If the surface is very dirty, we recommend Ligroin as a cleaning agent. Apply the

agent to a cloth and then wipe the panel’ s surface. Do not apply cleanser directly
to the pandl.

C
e Zelg;ez

4. If water or other liquid is left on the panel’ s surface for along period, it can
change the screen’s tint or stain it. Be sure to quickly wipe off any liquid.

5. Glassisused inthe panel, so be careful not to drop it or let it strike a hard object,
which could cause breakage or cracks.

App-2



6. CMOS-LS circuits are used in the module, so guard against damage from electro-
static discharge. Be sureto wear awrist or ankle ground when handling the
module.

7. Do not expose the module to direct sunlight or strong ultraviolet rays for long
periods.

8. Do not store the module at temperatures below specifications. Cold can cause the
liquid crystals to freeze, lose their elasticity or otherwise suffer damage.

App-3



9. Do not disassemble the LCD module. Disassembly can cause malfunctions.

0. If you transport the module, do not use packing material that contains epoxy resin
(amine)  or silicon glue (alcohol or oxime). These materials can release gas that
can damage the panels’ polarization.

App-4



Appendix B Board Layout

B.1 T4700CS/T4700CT Upper System Board (FSXSY4)

= (L)

“‘

TOSHIBA: "6 Ffj_ 8
F3xSve [!’
:

28
EER ese073251018 T

. [T

0 I
o1t l
@

g
wm ~Na
= S

Figure B-1 Upper system board FSXSY4 (front)

App-5



Figure B-2 Upper system board FSXSY4 (back)

App-6



T4800CT Upper System Board (FX3SY1)

B.2

| 2
XY
T L

(a]

o~

(o]

&

x

5

e

Ry > fs

25

TS

b m
<«

o o

—-— *320

I
7
o
Tg

o
2
Il)

o
3

===
z

i(f
2
3

T

Figure B-3 Upper system board FX3SY1 (front)

App-7



o

o
i

cinj
1

i2
isl

&
:

ok

ik

= s
e[ 19
. H
3 e
s wrz
el
TS
[&
2

L.
1£14)2

R
(34
——— @7 o T fec TaT e a

oy _-'_ - '_H_AT'
I
I3
— + 1 + +

firye ]

12:‘ ave 27 13
g, o 3 - izlgl
BIEE s — T )
Catwy T g Bl H
———"']&.H.é s | =
Nk ae
! xx,t' — .:".“fyﬂtl_g\
(R JlEagehe
i
: [
a FL23

—

Figure B-4 Upper system board FX3SY1 (back)

App-8



Table B-1 Upper ICs and connectors on the system board (front)

Mark Number Name

(A) IC1 Clock generator

(B) IC2 CPU 486DX2 (FSXSY4)
CPU 486DX4 (FX3SY1)

© IC3 System controller gate array

(D) IC21, 22 Video RAM

(E) IC29 RTC

(F) IC33 KBC

(G) PJ15 Microphone connector

(H) PJ2 FL inverter connector

() PJ13 Backup battery connector

J) PJ6 Status indicator panel connector

(K) PJ3 Display connector

(L) PJ5 Panel close switch connector

(M) PJ17 Power/reset switch connector

(N) PJ8 Keyboard connector

(O) PJ1 Memory card connector

Table B-2 Upper ICs and connectors on the system board (back)

Mark Number Name
(A) IC4t01C19 System memory
(B) IC20 Video controller (WD90C24A)
© IC32 Sub LCD controller gate array
(D) PJ14 Power supply board connector
(E) PJ11 Joint connector 1
(B PJ12 Joint connector 2

App-9



Lower System Board (FSXIO2)

B.3

]

[} crorszeoooce
o1xsd

VaIHSO1] (4

s
2|l &
24

il 4

/

HIEHE R
TR o

- tﬂi T T11+|¢‘1J!+.4.i»1 Tt

L0874

msd

Gaitey? [
20l
windy

it [

_

Figure B-5 Lower system board FSXIO2 (front)

App-10



c3e1

iNzbds

<336

T
Fir

n17e
I)T(
EE]

o

ol
#S

ri3ar

i

ae

e

rL3ee [y
.

!

win —

-

e (2
32y

N

[ 4

L)

L322,

w |

rizs

|

=
€
&

Iy
B2 Vs

Y
4,0, 308 U

oy

b __|
ERERR

I

Figure B-6 Lower system board FSXIO2 (back

App-11



Table B-3 Lower I1Cs and connectors on the system board (front)

Mark Number Name
(A) PJ301 Joint connector 1
(B) PJ302 Joint connector 2
© PJ303 PRT/FDD connector
(D) PJ304 Internal FDD connector
(E) PJ305 HDD connector
(F) PJ306 Serial connector
(G) PJ307 150-pin expansion connector
(H) PJ308 PCMCIA slot 1 connector
() PJ311 External display connector
J) PJ312 PS/2 mouse connector
(K) PJ313 PS/2 keyboard connector
(L) PJ314 Microphone jack connector
(M) PJ316 Headphone jack connector

Table B-4 Lower |Cs and connectors on the system board (back)

Mark Number Name
(A) IC300 BIOS ROM
(B) IC303 Super integration (T9901)
© IC314 PCMCIA controller gate array
(D) PJ309, PJ310 PCMCIA slot 2 joint connector

App-12



Appendix C Pin Assignment

C1l

PJ1 Memory Slot Connector (88-Pin)

Table C-1 Memory slot connector pin assignment (88-pin)

Pin Signal I/10 Pin Signal I/0
01 GND — 45 GND —
02 D00;100 /0 46 D16;100 /0
03 D01;100 /0 47 D17;100 /0
04 D02;100 /0 48 D18;100 /0
05 D03;100 /0 49 D19;100 /0
06 D04;100 /0 50 D20;100 /0
07 D05;100 /0 51 D21;100 /0
08 D06;100 /0 52 D22;100 /0
09 B3V — 53 D23;100 I/O
10 D07;100 I/O 54 GND —
11 VCC — 55 RAS2;001 O
12 GND — 56 GND —
13 MAOQO;111 O 57 MAO1;111 O
14 MAO02;111 O 58 MAO3;111 O
15 B3V — 59 MAO5;111 O
16 MAO4;111 O 60 MAOQ07;111 O
17 VCC — 61 MAOQ9;111 O
18 MAO06;111 O 62 GND —
19 MAOQS8;111 O 63 GND —
20 MA10;111 O 64 GND —
21 GND — 65 RAS1;001 O
22 RASO0;001 O 66 CAS2;011 O
23 CASO0;011 O 67 GND —
24 CAS1;011 O 68 CAS3;011 O
25 VCC — 69 RAS1;001 O
26 RASO0;001 O 70 MEMWEZ2;001 O
27 B3V — 71 DRMST1;100 I/O
28 DRMST2;100 I/O 72 DRMSTS3;100 I/O
29 DRMST4;100 I/O 73 GND —
30 DRMST6;100 I/O 74 DRMST5;100 I/O
31 CASO;011 O 75 DRMST7;100 I/O
32 CAS1;011 O 76 DRMSTS8;100 I/O
33 GND — 77 CAS2;011 O
34 D08;100 I/O 78 CAS3;011 O
35 VCC — 79 GND —
36 D09;100 I/O 80 D24;100 I/O
37 B3V — 81 D25;100 I/O
38 D10;100 I/O 82 D26;100 I/O
39 D11;100 I/O 83 D27;100 I/O
40 D12;100 I/O 84 D28;100 I/O
41 D13;100 I/O 85 D29;100 I/O
42 D14;100 I/O 86 D30;100 I/O
43 D15;100 I/O 87 D31;100 I/O
44 GND — 88 GND —

App-13



App-14



C.2 PJ2 FL Inverter Connector (6-Pin)

C.3 PJ3

Table C-2 FL inverter connector pin assignment (6-pin)

Pin Signal /0 Pin Signal /0
01 DSPV ¢} 04 GND —
UZ DSFV U Uo BRTCNT ,LUU U
03 GND — 06 GND —

LCD Cpnnector (40-Pin)
Table C-3 LCD gonnector pin assignment (40-pin)

Pin Signal /0 Pin Signal /0
01 LCDVCC — 21 STND3;103 ¢}
02 LCDVCC — 22 FR;103 ¢}
03 PNEL1;100 | 23 STNDO0;103 ¢}
04 GND — 24 GND —
05 PNELO;100 | 25 BLUE2;103 ¢}
06 GND — 26 BLUEO;103 o]
07 RESET;000 o 27 BLUE1;103 ¢}
08 GND — 28 GND —
09 CNTRST;100 ¢} 29 STND5;103 o
10 XSCLK;103 ¢} 30 STND2;103 o
11 XCLK;103 ¢} 31 LP;103 o
1Z GND —_— Sy4 GND —_—
13 FP;103 ¢} 33 STND6;103 ¢}
14 LGRENO;103 ¢} 34 LGREN1;103 o}
15 LGRENZ2;103 ¢} 35 RED2;103 o
16 GND — 36 GND —
17 REDO;103 o 37 STND1;103 ¢}
18 RED1;103 ¢} 38 GND —
19 STND4;103 ¢} 39 STNVCC —
20 GND — 40 STNVCC —

App-15



C.4 PJ5 Panel Close Switch Connector (2-Pin)

Table C-4 Panel close switch connector pin assignment (2-pin)

Pin Signal /0 Pin Signal /0

01 PNLOFF;000 | 02 GND —
C.5 PJ6|Status |ndicator Panel Connegtor (16-Pin)
Table C-5 Satusindicator panel I/F pin assignment (16-pin)

Pin Signal /0 Pin Signal /0
01 LCOM4;100 ¢} 09 LSEG08;110 ¢}
02 LCOMS3;100 o} 10 LSEG07;110 ¢}
03 LCOM2;100 ¢} 11 LSEG06;110 ¢}
04 LCOM1;100 ¢} 12 LSEGO05;110 ¢}
05 LSEG12;110 o 13 LSEG04;110 ¢}
06 LSEG11;110 ¢} 14 LSEG03;110 ¢}
07 LSEG10;110 o} 15 LSEG02;110 ¢}
08 LSEG09;110 ¢} 16 LSEG01;110 ¢}

C.6 PJ8|KB I/F Connector (19-P|n)
Table C-6 KB I/F gonnector pin assignment (19-pin)

Pin Signal /0 Pin Signal /0
01 KBOTO00;010 ¢} 11 KBOTO03;010 ¢}
02 KBRT6;110 | 12 KBOT04;010 ¢}
03 KBRTO;110 | 13 KBOTO05;010 o}
04 KBRT2;110 | 14 KBOTO06;010 o
05 KBRT3;110 | 15 KBOTO08;010 o}
06 KBRT1;110 | 16 KBOT02;010 ¢}
07 KBRT7;110 | 17 KBOT07;010 ¢}
08 KBRT5;110 | 18 KBOT09;010 o
09 KBRT4;110 | 19 KBOT10;010 ¢}
10 KBOT01;010 o}

App-16



C.7

PJ11 (PJ301) Joint Connector 1 (100-Pin)

Table C-7 Joint connector 1 pin assignment (100-pin)

Pin Signal /0 Pin Signal /0
01 SDO07;100 /0 51 TMOUT?2;100 I
02 SD08;100 /0 52 TIMGT2;100 O
03 SD06;100 /10 53 TMOUT1;100 I
04 SD09;100 /0 54 MEWR;000 /10
05 SDO05;100 /0 55 KBCS;000 I
06 SD10;100 I/10 56 MERD;000 /0
07 SDO04;100 /0 57 HREQ;100 I
08 SD11;100 /0 58 RSTCPU;100 (@]
09 GND — 59 DMEN16;100 (0]
10 GND — 60 PCLR;001 (@]
11 SDO03;100 /0 61 HLDACK;100 @]
12 SD12;100 /0 62 ROMCS;000 (@]
13 SD02;100 /0 63 DMACLK;100 O
14 SD13;100 /0 64 BALE;100 (@]
15 SDO01;100 /0 65 DMARDY:;100 I
16 SD14;100 /0 66 ZEROWS;000 I
17 SDO00;100 /0 67 DMAWR;000 (@]
18 SD15;100 J{e] 68 IMCS16;000 I
19 LGREN;100 (@] 69 GND —
20 RED;100 O 70 GND —
21 BLUE;100 (@] 71 DMARD;000 (@]
22 HSYNC;100 (@] 72 ESMI1;000 I
23 OVSYNC;100 (@] 73 DMAENS;100 I
24 LA22;100 /O 74 ESMI2;000 I
25 CRTEN;000 @] 75 SA00;100 /0
26 LA23;100 J{e] 76 BUFOFF;000 I
27 $24MHZ;100 (@] 77 SA01;100 J{e]
28 LA21;100 /0 78 SA12;100 J{e]
29 GND — 79 SA02;100 J{e]
30 GND — 80 SA13;100 J{e]
31 IIRDY;100 I 81 SA03;100 J{e]
32 LA19;100 /O 82 SA14:;100 J{e]
33 ALED;100 I 83 SA04;100 J{e]
34 LA20;100 J{e] 84 SA15;100 J{e]
35 11016;000 /O 85 SA05;100 J{e]
36 SBHE;000 J{e] 86 SA16;100 J{e]
37 DRVSL;000 I 87 SA06;100 J{e]
38 LA17;100 J{e] 88 SA17;100 (@]
39 LA18;100 J{e] 89 GND -
40 IOCHCK;000 I 90 SA18;100 (@]
a1 CPHECDATI00 O 91 SAO7,100 IA®)
42 EICS16;000 I 92 RTCBAT I
43 IRQ8;100 (@] 93 SA08;100 /0
44 EMCS16;000 I 94 SA19;100 @]
45 INTA;000 (@] 95 SA09;100 /0
46 IRQ13;100 (0] 96 B5V -
47 INTR;100 (@] 97 SA10;100 /0
48 IRQO;100 O 98 12v -
49 GND - 99 SA11;100 J{e]
50 GND - 100 B5V -

App-17



C.8 PJ12(PJ302) Joint Connector 2 (60-Pin)

Table C-8 Joint gonnector|2 pin assignment (60-pin

Pin Signal 7O Pin Signal 70
01 DCIN | 31 GND —
02 ADPCNT;100 | 32 IRQ12;100 0
03 DCIN | 33 REFRSH;000 110
04 CPCNF;100 | 34 DACK6:000 |
05 DCIN | 35 IHMED;000 |
06 SMEW;000 0 36 DACK?7;000 |
07 DCIN | 37 KBRWO;000 |
08 SMER;000 0 38 DACK4;000 |
09 AGNDIM 0 39 KBTMG;100 |
10 BEEP;000 | 40 MASTER;000 |
11 GND - 41 KBOT00;000 110
12 M12V - 42 KEYPRS;100 0
13 IMICIN;100 0 43 KBOT01;000 110
14 GND — 44 KBOT02;000 110
15 IOWR;000 110 45 KBOT03;000 110
16 IORD;000 110 46 KBOT04;000 110
17 SPKVOL;100 0 47 GND —
18 EPNLOF;000 0 48 KBOTO05;000 110
19 SPKDRV;000 0 49 KBOT06;000 110
20 DACK2;000 | 50 GND —
21 RESET;000 0 51 MOUSDT;100 0
22 DACK3;000 | 52 KBOTO07;000 110
23 |IOCLK;100 0 53 KBIRQ1;100 0
24 DACKO;000 | 54 MOUSCK;100 0
25 $14R3M;110 0 55 EKBDAT;100 0
26 AEN;100 | 56 EKBCLK;100 0
27 CK32K;100 0 57 VCC -
28 EIORDY;100 | 58 VCC -
29 $14R7M;100 0 59 VCC -
30 GND — 60 VCC -

App-18




C.9 PJ13 Backup Battery Connector (2-Pin)

Tablle C-9 Backup battery connector pin assignment (2-pin)
Pin Signal /0 Pin Signal /0
01 SUBBAT — 02 GND —
C.10 PJ14a PS I/F|Connector (60tPin)

Taljle C-10-1 PSIF connector pin assignment (60-pin) [ T4700CHT4700(
Pin Signal /0 Pin Signal /0
01 M12V - 31 VCC -
02 SUBBAT | 32 GND —
03 12v - 33 VCC -
04 SPKVOL;100 | 34 PSTMG;000 ¢}
05 DCIN | 35 VCC -
06 BRTCNT;100 o} 36 PSRWO0;000 o}
07 DCIN | 37 VCC -
08 CNTRST;100 ¢} 38 PSADO0;100 110
09 DCIN | 39 VCC -
10 ADPCNT;100 | 40 PSAD1;100 1/0
11 DCIN | 41 GND —
12 GND — 42 PSAD2;100 110
13 GND — 43 GND —
14 MCV - 44 PSAD3;100 110
15 GND — 45 B3V -
16 SRBTN;000 | 46 PSAD4;100 110
17 GND — 47 B3V -
18 LOBAT;100 | 48 PSAD5;100 110
19 DSPV | 49 GND —
20 PCLR;000 | 50 PSAD6;100 110
21 DSPV | 51 GND —
22 BEEP;000 | 52 GND —
23 GND — 53 PSREQ;000 |
24 CPCNF;100 | 54 PSAD7;100 110
25 GND — 55 SUSSTA;001 |
26 ENVCC;000 | 56 PNLOF;000 ¢}
27 GND — 57 PSUPDT;100 |
28 EN3V;000 | 58 RSTSW;000 o
29 VCC - 59 PSRST;000 o
30 ENB3V;000 | 60 PWRSW;000 ¢}

App-19



Table C-10-2 PSIF connector pin assignment (60-pin) [ T4800CT]

Pin Signal /0 Pin Signal /0
01 P\_A'IP‘Q\'I\'I;I’\{\{'\ (&) 31 EN_BQ\'I;nﬂn }
02 PSRST;000 0] 32 VCC -
03 RSTSW;000 o] 33 EN3V;000 I
04 PSUPDT:100 I 34 GND —
05 PNLOF;000 0] 35 ENVCC;000 I
06 SUSSTA;001 I 36 GND —
07 PSAD7;100 110 37 CPCNF;100 I
08 PSREQ;000 I 38 GND —
09 GND — 39 BEEP;000 I
16 GND = 40 BSPV f
11 PSAD6;100 I/0 41 PCLR;000 I
12 B3V — 42 DSPV I
43 PSABS5:466 HO 43 FOBAT166 f
14 B3V - 44 GND —
15 PSAD4;100 I/0 45 SRBTN;000 I
16 B3V - 46 GND —
17 PSAD3;100 I/0 47 MCV -
18 GND — 48 GND —
19 RSAD2:100 HO 49 GND
20 GND — 50 DCIN I
21 PSAD1;100 110 51 ADPCNT;100 I
22 VCC - 52 DCIN I
23 PSADO;100 I/0 53 CNTRST;100 0]
24 VCC - 54 DCIN I
25 PSRWO0;000 o] 55 BRTCNT;100 0]
26 VCC - 56 DCIN I
27 PSTMG;000 0] 57 SPKVOL;100 I
28 VCC - 58 12v -
29 GND — 59 SUBBAT I
30 VCC - 60 M12v -

App-20




C.11 PJ15 Microphone Connector (3-Pin)

C.12 PJ1

Table C-11 Microphone connector pin assignment (3-pin)

Pin Signal /0 Pin Signal /0
01 IMICIN;100 | 03 N.C. —
02 AGNDIM |

7 Power/Reset Switchh Connector (3-Pin)

Table C-12 Power/Reset switch connector| pin assignment|(3-pin)
Pin Signal /0 Pin Signal /0
01 RSTSW;010 | 03 PWRSW;010 |
02 GND —

C.13 PJ303 PRT/FDD Connector (for Printer) (25-Pin)

Table C-13 PRT/FDD connector (for printer) pin assignment (25-pin)

Pin Signal /0 Pin Signal /0
01 STROB;001 0] 14 AUTFD;001 0]
02 PDBO00;101 I/0 15 ERROR;001 I
03 PDBO01;101 110 16 PINT;001 o]
04 PDB02;101 I/0 17 SLIN;001 0]
05 PDBO03;101 110 18 GND —
06 PDBO04;101 1’0 19 GND —
07 PDBO05;101 110 20 GND —
08 PDBO06;101 110 21 GND —
09 PDBO07;101 110 22 GND —
10 ACK;001 I 23 GND —
11 BUSY;102 I 24 GND —
12 PE;101 I 25 GND —
13 SELCT;101 0]

App-21



C.14 PJ303 PRT/FDD Connector (for FDD) (25-Pin)

Table C-14 PRT/FDD connector (for FDD) pin assignment (25-pin)

Pin Signal /0 Pin Signal /0
01 RDY I 15 LOWD 0]
02 INDX I 15 SSEL 0]
03 TRO I 16 DIRC 0]
04 WPR I 17 STEP o]
05 RDAT I 18 GND —
06 DKCH I 19 GND —
07 N/C — 20 GND —
08 N/C — 21 GND —
09 N/C — 22 GND —
10 DSL o] 23 GND —
11 MON 0] 24 GND —
12 WDAT 0] 25 GND —
13 WEN 0]

C.15 PJ3p4 FDD| (Int) Connectar (26-Pin)

Table C-15 FDD (|nt) connegtor pinjassignment (26-pin)

Pin Signal /0 Pin Signal /0
01 ISSEL;000 | 14 GND —
02 GND — 15 IDIRC;000 ¢}
03 IRDAT;000 | 16 ILOWD;000 o
04 GND — 17 IMON;000 o
05 IWPR;000 | 18 IHMED;000 |
06 GND — 19 IRDY;000 |
07 ITRO;000 | 20 vCcC —
08 GND — 21 DSKCHG;000 |
09 IWEN;000 o} 22 vCcC —
10 GND — 23 IDSL;000 o}
11 IWDAT;000 o} 24 vCcC —
12 GND — 25 IINDEX;000 |
13 ISTEP;000 o} 26 vCcC —

App-22



C.16 PJ305 HDD I/F Connector (60-Pin)

Table C-16 HDD I/F connector pin assignment (60-pin)

Pin Signal /0 Pin Signal /0
01 SD07;102 110 31 GND —
02 RESET;000 0] 32 GND —
03 SD08;102 110 33 IORD;000 0]
04 GND — 34 IOWR;000 0]
05 SD06;102 10 35 GND —
Uuo oUUY,1UZ IAY; S0 GND —
07 GND — 37 1016 I
08 GND — 38 IIRDY I
09 SD05;102 110 39 GND —
10 SD10;102 I/0 40 GND —
11 GND — 41 SA01;100 0]
12 GND — 42 IRQ14;100 I
13 SD04;102 1’0 43 GND —
14 SD11;102 I/0 44 GND —
15 GND — 45 SA00;100 0]
16 GND — 46 SA02;100 0]
17 SD03;102 IO 47 GND —
18 SD12;102 110 48 GND —
19 GND — 49 HDDCS2;010 0]
20 GND — 50 HDDCS1;010 0]
21 SD02;102 I/0 51 GND —
22 SD13;102 I/0 52 HDDVCC —
23 GND — 53 DRVSL;000 I
24 GND — 54 HDDVCC —
25 SD01;102 I/0 55 HDDVCC —
26 SD14;102 I/0 56 HDDVCC —
27 GND — 57 HDDVCC —
28 GND — 58 HDDIN;000 I
29 SD00;102 I/0 59 ATSEL;100 I
30 SD15;102 I/0 60 GND —

App-23



C.17 PJ306 Serial I/F Connector (9-Pin)

Table C-17 Serial I/F connector pin assignment (9-pin)

Pin Signal /0 Pin Signal /0
01 DCD1;101 I 06 DSR1;101 I

02 RD1;001 I 07 RTS1;101 0]
03 SD1;001 0] 08 CTS1;101 I

04 DTR1;101 0] 09 RI1;101 I

05 GND —

App-24



C.18 PJ307 Expansion Connector (150-Pin)

Table|C-18 Expansion ¢connectof pin assignment (150-pin)|(1/2)

Pin Signal /0 Pin Signal /0
01 DCIN | 31 SA11;101 110
02 DCIN | 32 SA12;101 110
03 DCIN | 33 SA13;101 110
04 DCIN | 34 SA14;101 110
05 N/C (DSKCUR) | 35 SA15;101 110
06 N/C (DSKCUR) | 36 GND —
07 N/C (DSKCUR) | 37 SA16;101 110
08 N/C (DSKCUR) | 38 SA17;101 110
09 ADPCNT;100 | 39 SA18;101 110
10 GND — 40 SA19;101 110
11 RVCC — 41 SD00;101 110
12 RGND — 42 SDO01;101 110
13 CPCNF;100 | 43 SD02;101 110
14 MDMSL;001 o 44 SD03;101 110
15 $14R7M;100 ¢} 45 GND —
16 MIRQ;001 | 46 SD04;101 110
17 SPKTON;001 | 47 SD05;101 110
18 GND — 48 SD06;101 110
19 SA00;101 110 49 SD07;101 110
20 SA01;101 110 50 SMEW;001 ¢}
21 SA02;101 110 51 SMER;001 o
22 SA03;101 110 52 GND —
23 SA04;101 110 53 IOWR;001 110
24 SA05;101 110 54 IORD;001 110
25 SA06;101 110 55 TC;101 ¢}
26 SA07;101 110 56 BALE;101 ¢}
27 GND — 57 RESET;101 o}
28 SA08;101 110 58 DACKZ1;001 ¢}
29 SA09;101 110 59 IRQ9;101 |
30 SA10;101 110 60 GND —

App-25



Table C-18 Expansion connector pin assignment (150-pin) (2/2)

Pin Signal /0 Pin Signal /0
61 VCC — 106 IRQ4;101 I
62 {OCHK:110 o 107 MEWR:004 HO
63 IRQ5;101 I 108 IRQ7;101 I
64 DRQ3;101 I 109 GND —
65 DACK3;001 o 110 RED;101 o
66 AEN;101 o 111 LGREN;101 O
67 DRQ1;101 I 112 BLUE;101 o
68 EIORDY;101 I 113 GND —
69 GND — 114 PHSYNC;100 o
70 IRQ10;101 I 115 PVSYNC;100 O
71 IRQ14;101 I 116 GND —
72 SD08;101 I/O 117 EKBDAT;100 I/O
73 SD09;101 I/O 118 EKBCLK;100 I/O
74 IRQ11;101 I 119 N/C —
75 SD10;101 I/O 120 MOUSDT;100 I/O
76 SD11;101 I/O 121 MOUSCK;100 I/0
77 SD12;101 I/O 122 GND —
78 IRQ12;101 I 123 STROB;000 I/O
79 GND — 124 PDB00;100 I/0
80 SD13;101 I/O 125 PDB01;100 I/O
81 SD14;101 I/O 126 PDB02;100 I/0
82 IRQ6;101 I 127 PDB03;100 I/0
83 SD15;101 I/O 128 PDB04;100 I/0
84 LA22;101 I/O 129 PDBO05;100 I/0
85 LA23;101 I/O 130 PDB06;100 I/0
86 DRQ2;101 I 131 PDB07;100 I/0
87 LA21;101 I/0 132 ACK;000 I/0
88 LA19;101 I/O 133 BUSY;101 I/0
89 LA20;101 I/0 134 PE;100 I/O
20 DACKG6;001 O 135 SELCT;100 I/0
91 GND — 136 AUTFD;000 I/0
92 REFRSH;001 I/O 137 ERROR;000 I/0
93 LA18;101 I/O 138 PINT;000 I/0
94 MASTER;001 I 139 SLIN;000 I/0
95 LA17;101 I/O 140 GND —
96 SBHE;001 I/O 141 SD1;000 I
97 IOCHCK;001 I 142 DTR1;100 I
98 EMCS16;001 I 143 RTS1;100 I
99 GND — 144 DCD1;100 O

100 EICS16;001 I 145 RD1;000 O

101 DACK2;001 O 146 DSR1;100 O

102 DRQ6;101 I 147 CTS1;100 O

103 DRQ5;101 I 148 RI1;100 O

104 DACKS5;001 O 149 GND —

105 MERD;001 I/0 150 GND —

App-26




C.19 PJ308 PCMCIA Slot 1 Connector (68-Pin)

Tahkl

10 _DPDCOhNC

1 ocon

octar

+ (0O

B

A
o LJ T VIV

ol
[~

1N oo oy
plll TASSIYrTIC (O

geisy pt-1-eonnectot pH)

Pin Signal /0 Pin Signal /0
01 GND — 35 GND —
02 CDAO03;100 I/0 36 CD1A;000 I
03 CDA04;100 110 37 CDA11;100 I/0
04 CDAO05;100 I/0 38 CDA12;100 I/0
05 CDA06;100 1’0 39 CDA13;100 1’0
06 CDAO07;100 110 40 CDA14;100 110
07 CE1A;000 0] 41 CDA15;100 I/0
08 CADA10;100 0] 42 CE2A;000 0]
09 OEA;000 0] 43 N/C —
10 CADA11;100 0] 44 IORA;000 0]
11 CADA09;100 o] 45 IOWA;000 0]
12 CADAO08;100 0] 46 CADA17;100 0]
13 CADA13;100 0] 47 CADA18;100 0]
14 CADA14;100 0] 48 CADA19;100 0]
15 WEA;000 0] 49 CADA20;100 0]
16 BSYA;000 I 50 CADA21;100 0]
17 MCVCCA — 51 MCVCCA —
18 MCVP1A — 52 MCVP2A —
19 CADA16;100 0] 53 CADA22;100 0]
20 CADA15;100 ¢} 54 CADA23;100 O
21 CADA12;100 o] 55 CADA24;100 0]
22 CADAO07;100 0] 56 CADAZ25;100 0]
23 CADAO06;100 0] 57 N/C —
24 CADAO05;100 0] 58 CRSTA;100 0]
25 CADAO04;100 0] 59 WAITA;000 I
26 CADAO03;100 o] 60 INPAKA;000 I
27 CADA02;100 0] 61 REGA;000 0]
28 CADAO01;100 o 62 BVDA2;100 I
29 CADAO00;100 0] 63 BVDA1;100 I
30 CDAO00;100 I/0 64 CDAO08;100 I/0
31 CDAO01;100 I/0 65 CDA09;100 I/0
32 CDA02;100 I/0 66 CDA10;100 I/0
33 WPA;000 I 67 CD2A;000 I
34 GND — 68 GND —

App-27



C.20 PJ309 PCMCIA Slot 2 Joint Connector 1 (40-Pin)

Table C-20 PCMCIA slot 2 joint connector 1 pin assignment (40-pin)

Pin Signal /0 Pin Signal /0
01 CADB22;100 0] 21 CADBO03;100 0]
02 MCVP2B — 22 REGB;000 0]
03 CADB16;100 0] 23 CADBO02;100 0]
04 MCVP1B — 24 BVDB2;100 I
05 CADB15;100 0] 25 CADBO01;100 0]
06 CADB23;100 0] 26 BVDB1;100 I
07 CADB12;100 0] 27 CADBO00;100 0]
08 CADB24;100 0] 28 CDBO08;100 110
09 GND — 29 GND —
10 GND — 30 GND —
11 CADB25;100 0] 31 CDB00;100 I/0
12 CADBO07;100 0] 32 CDB09;100 I/0
13 CADBO06;100 0] 33 CDB01;100 1’0
14 CRSTB;100 0] 34 CDB10;100 I/0
15 CADBO05;100 0] 35 CDB2B;000 I
16 CADBO04;100 0] 36 CDB02;100 110
17 WAITB;000 I 37 WPB;000 I
18 INPAKB;000 I 38 SPKM;100 0]
19 GND — 39 SPKP;100 0]
20 GND — 40 RTCBAT I

App-28




C.21 PJ310 PCMCIA Slot 2 Joint Connector 2 (40-Pin)

C.22

Table C-21 PCMCIA slot 2 joint connector 2 pin assignment (40-pin)

PJ

Pin Signal /0 Pin Signal /0
01 VCC — 21 GND —
02 MOUSCK;100 ¢} 22 GND —
03 MOUSDT;100 ¢} 23 OEB;000 ¢}
04 CDB11;100 110 24 CADB11;100 ¢}
05 CD1B;000 | 25 IOWB;000 ¢}
06 CDB04;100 110 26 CADB09;100 ¢}
07 CDB03;100 110 27 CADB17;100 o}
08 CDBO05;100 110 28 CADBO08;100 ¢}
09 CDB12;100 110 29 CADB18;100 ¢}
10 CDBO06;100 110 30 CADB13;100 ¢}
11 GND — 31 GND —
12 GND — 32 GND —
13 CDB13;100 110 33 CADB19;100 o
14 CDB14;100 1/0 34 CADB14;100 ¢}
15 CDB07;100 110 35 CADB20;100 o
16 CDB15;100 110 36 WEB;000 |
17 CE1B;100 o} 37 CADB21;100 ¢}
18 CADB10;100 ¢} 38 MCVCCB —
19 CE2B;000 o} 39 BSYB;000 |
20 IORB;000 o] 40 MCVCCB —

SH-C H—Connector{15-Pih)
Table C-22 CRT I/F connector pin assignment (15-pin)

Pin Signal /0 Pin Signal /0
01 RED;101 ¢} 09 N/C —
02 LGREN;101 o} 10 GND —
Us BLUE,1UL O 11 N/C —
04 N/C — 12 N/C —
05 GND — 13 PHSYNC;100 ¢}
06 GND — 14 PVSYNC;100 ¢}
U/ GND — 15 N/C —
08 GND —

App-29



C.23 PJ312 PS/2 Mouse Connector (6-Pin)

Table C-23 PS2 mouse connector pin assignment (6-pin)

Pin Signal /0 Pin Signal /0
01 MOUSDT;101 110 04 VCC —
02 N/C — 05 MOUSCK;101 I/0
03 GND — 06 N/C —

C.24 PJ313 PS/2 Keyboard I/F Cpnnector (6-Pin)

Table C-24 PS2 keyboard I/F cgnnector|pin assignment (6-pin)

Pin Signal /0 Pin Signal /0
01 EKBDAT;101 I/0 04 VCC —
02 N/C — 05 EKBCLK;101 I/0
03 GND — 06 N/C —

C.25 PJ3{4 Microphone Jack Connector (6-Pin)

Table/C-25 Microphone jack connector pin assignment (6tpin)

Pin Signal /O Pin Signal /O
01 AGNDEM I 04 AGNDEM I
02 EMICIN I 05 IMICOF I
03 EMICIN I 06 N.C. —

C.26 PJ316 Headphone Jack Connector (6-Pin)

Table C-26 Headphone jack connector pin assignment (6-pin)

Pin Signal /0 Pin Signal /0
01 AGNDHP 0] 04 AGNDHP 0]
02 LHPHON 0] 05 SPKOFF I
03 RHPHON 0] 06 N.C. —

App-30



Appendix D USA Display Codes

Table D-1 USA Display Codes

w [ IHHIAIVIESS [ 2o [ oo |ble [ [ =]3e
wlyll-lr[Wlo|a|-|e|ojalwo| 86| W|C
o | HEL H L L .

R L
i i mmn nan Al s e R DA n A
<« [vo[\=|wo|afiehz|ofolf-o] L| [QX}|--| ¥|2
o pu| 8| Y[co| 0|0l a0l o|Ww| & | «
® | O3 |0 |<D|:0|/O|oo| O <V | 0|/ i=| <=} r—| i< [oL
Nlalolelw|e]| 3> 2 x| N~--]—2]|d
vol. |o|lolo|ov|o|+|Oolc|~-]|—|x|—|E|] |0
wla|ole|u|-{D(>|Z|x|>|Nl—/|—|<]| |
+ |@®«<|ojojojw|L|O|T|—|2|X|Jd[Z]|Z|0
m|O|—|N|M|t ]|~ el VI A
o [z [~ [ |7 [ ]| ~[ 1] <IN
Y g s s e g v i R T TR EA
omm©9v¢.»+. O[®] © |0+ = [=»| %t
ﬁmmmo.123456789ABCDEF

App-31



Appendix E Keyboard Scan/Character

Codes

Table E-1 Scan codes (set 1 and set 2) (1/3)

Cap Code set 1 Code set 2
No. Keytop Make Break Make Break Note
01 ‘o~ 29 A9 OE FO OE
02 1! 02 82 16 FO 16
03 2 @ 03 83 1E FO 1E
04 3 # 04 84 26 FO 26
05 4% 05 85 25 FO 25
06 5 % 06 86 2E FO 2E
07 6 " 07 87 36 FO 36
08 7 & 08 88 3D FO 3D *2
09 8 * 09 89 3E FO 3E *2
10 9 ( 0A 8A 46 FO 46 *2
11 0) 0B 8B 45 FO 45
12 - 0C 8C 4E FO 4E
13 =+ oD 8D 55 FO 55
15 BkSp OE 8E 66 FO 66
16 Tab OF 8F oD FO 0D
17 Q 10 20 15 FO 15
18 w 11 91 1D FO 1D
19 E 12 92 24 FO 24
20 R 13 93 2D FO 2D
21 T 14 94 2C FO 2C
22 Y 15 95 35 FO 35
23 U 16 96 3C FO 3C *2
24 I 17 97 43 FO 43 *2
25 O 13 98 44 FO 44 *2
26 P 19 99 4D FO 4D *2
27 [ { 1A 9A 54 FO 54
28 11} 1B 9B 5B FO 5B
29 (42) \ 2B AB 5D FO 5D *5
30 Caps Lock 3A BA 58 FO 58
31 A 1E 9E 1C FO 1C
32 S 1F 9F 1B FO 1B
33 D 20 A0 23 FO 23
34 F 21 Al 2B FO 2B
35 G 22 A2 34 FO 34
36 H 23 A3 33 FO 33
37 J 24 Ad 3B FO 3B *2
38 K 25 A5 42 FO 42 *2
39 L 26 A6 4B FO 4B *2
40 ;o 27 A7 4C FO 4C *2

App-33



Table E-1 Scan codes (set 1 and set 2) (2/3)

Cap Code set 1 Code set 2

No. Keytop Make Break Make Break Note
41 c 28 A8 52 FO 52

43 Enter 1C 9C 5A FO 5A

44 Shift (L) 2A AA 12 FO 12

45 No0.102 key 56 D6 61 FO 61

46 z 2C AC 1A FO 1A

47 X 2D AD 22 FO 22

48 C 2E AE 21 FO 21

49 \Y, 2F AF 2A FO 2A

50 B 30 BO 32 FO 32

51 N 31 B1 31 FO 31

52 M 32 B2 3A FO 3A *2
53 , < 33 B3 41 FO 41 *2
54 . > 34 B4 49 FO 49 *2
55 /? 35 B5 4A FO 4A *2
57 Shift (R) 36 B6 59 FO 59

58 Ctrl 1D 9D 14 FO 14 *3
60 Alt (L) 38 B8 11 FO 11 *3
61 Space 39 B9 29 FO 29

62 ALT (R) EO 38 EO B8 EO 11 EO FO 11

75 Ins EO 52 EO D2 EO 70 EO FO 70 *1
76 Del EO 53 EO D3 EO 71 EO FO 71 *1
79 - EO 4B EO CB | EO 6B EO FO 6B *1
80 Home EO 47 EO C7 EO 6C EO FO 6C *1
81 End EO 4F EO CF EO 69 EO FO 69 *1
83 ) EO 48 EO C8 EO 75 EO FO 75 *1
84 ! EO 50 EO DO EO 72 EO FO 72 *1
85 PgUp EO 49 EO C9 EO 7D EO FO 7D *1
86 PgDn EO 51 EO D1 EO 7A EO FO 7A *1
89 - EO 4D EO CD | EO 74 EO FO 74 *1
110 Esc 01 81 76 FO 76

App-34




Table E-1 Scan codes (set 1 and set 2) (3/3)

Cap Code set 1 Code set 2

No. Keytop Make Break Make Break Note

112 F1 3B 3B 05 FO 05

113 F2 3C BC 06 FO 06

114 F3 3D BD 04 FO 04

115 F4 3E BE 0oC FO 0C

116 F5 3F BF 03 FO 03

117 F6 40 Co 0B FO OB

118 F7 41 C1 83 FO 83

119 F8 42 Cc2 0A FO OA

120 F9 43 C3 01 FO 01

121 F10 44 Cc4 09 FO 09

122 F11 57 D7 78 FO 78 *3

123 F12 58 D8 07 FO 07 *3

124 PrintSc *6 *6 *6 *6 *6

126 Pause *7 *7 *7 *7 *7

202 Fn — — — — *4
Notes:

1* Scan codes differ by mode.

2* Scan codes differ by overlay function.

3* Combination with Fn key makes different codes.

4* Fn key does not generate a code by itself.

5* Thiskey corresponds to key No. 42 in 102-key model.
6* Refer to table E-6, scan codes with Ctrl key.

7* Refer to table E-7, scan codes with Alt key.

App-35



Table E-2 Scan codes with left Shift key

Cap Key Code set 1 Code set 2

No. top Make Break Make Break

75 INS EO AA EO 52 | EO D2 EO 2A | EO FO 12 EO 70 | EO FO 70 EO 12
76 DEL EO AA EO 53 | EO D3 EO 2A | EO FO 12 EO 71 EO FO 71 EO 12
79 - EO AA EO 4B | EO CB EO 2A | EO FO 12 EO 6B | EO FO 6B EO 12
80 Home EO A EO 47 | EO C7 EO 2A | EO FO 12 EO 6C | EO FO 6C EO 12
81 End EO AA EO 4F | EO CF EO 2A | EO FO 12 EO 69 EO FO 69 EO 12
83 ) EO AA EO 48 | EO C8 EO 2A | EOF0 12 EO 75 | EO FO 75 EO 12
84 ! EO AA EO 50 | EO DO EO 2A | EO FO 12 EO 72 EO FO 72 EO 12
85 PgUp EO AA EO 49 | EO C9 EO 2A | EO FO 12 EO 7D | EO FO 7D EO 12
86 PgDn EO AA EO 51 | EO D1 EO 2A | EO FO 12 EO 7A | EO FO 7A EO 12
89 - EO AA EO 4D | EO CD EO 2A | EO FO 12 EO 74 | EO FO 74 EO 12

Note: The table above shows scan codes with the left Shift key. In combination with
the right Shift key, scan codes are changed as below:

With left Shift With right Shift
Setl EO AA EO B6
EO 2A EO 36
Set 2 EO FO 12 EO FO 59
EO 12 EO 59
Table E-3 Scan codes in Numlock mode
Cap Key Code set 1 Code set 2
No. top Make Break Make Break
75 INS EO 2A EO 52 | EO 02 EO AA | E0O 12 EO 70 | EO FO 70 EO FO 12
76 DEL EO 2A EO 53 | EO D3 EO AA | E0O 12 EO 71 | EO FO 71 EO FO 12
79 - EO 2A EO 4B | EO CB EO AA | EO 12 EO 6B | EO FO 6B EO FO 12
80 Home EO 2A EO 47 | EO C7 EO AA | EO 12 EO 6C | EO FO 6C EO FO 12
81 End EO 2A EO 4F | EO CF EO AA | EO 12 EO 69 | EO FO 69 EO FO 12
83 1 EO 2A EO 48 | EO C8 EO AA | E0O 12 EO 75 | EO FO 75 EO FO 12
84 ! EO 2A EO 50 | EO DO EO AA | EO 12 EO 72 | EO FO 72 EO FO 12
85 PgUp EO 2A EO 49 | EO C9 EO AA | E0O 12 EO 7D | EO FO 7D EO FO 12
86 PgDn EO 2A EO 51 | EO D1 EO AA | EO 12 EO 7A | EO FO 7A EO FO 12
89 - EO 2A EO 4D | EO CD EO AA | EO 12 EO 74 | EO FO 74 EO FO 12

App-36




Table E-4 Scan codes with Fn key

Cap Code set 1 Code set 2
No. Keytop Make Break Make Break
43 ENT EO 1C EO 9C EO 5A EO FO 5A
58 CTRL EO 1D EO 9D EO 14 EO FO 14
60 LALT EO 38 EO B8 EO 11 EO FO 11
122 NUML 45 C5 77 FO 77
123 SCRL 46 C6 T7E FO TE
Table E-5 Scan codesin overlay mode
Cap Code set 1 Code set 2
No. Keytop Make Break Make Break
08 7 47 C7 6C FO 6C
09 8 (8 48 cs8 75 FO 75
10 9 (9 49 C9 7D FO 7D
11 0 37 B7 7C FO 7C
23 u @ 4B CB 6B FO 6B
24 I (5) 4C CC 73 FO 73
25 O (6) 4D CD 74 FO 74
26 P () 4A CA 7B FO 7B
37 J (1) 4F CF 69 FO 69
38 K (2 50 DO 72 FO 72
39 L (3 51 D1 7A FO 7A
40 ; +) 4E CE 79 FO 79
52 M (0) 52 D2 70 FO 70
53 , () 33 B3 41 FO 41
54 @) 53 D3 71 FO 71
55 / 0] EO 35 | EO B5 40 4A EO FO 4A
Table E-6 Scan codes with Ctrl key
Key Code set 1 Code set 2
top Shift Make Break Make Break
Prt Sc| Common| EO 2A EO 37 | EO B7 EO AA | EO 12 E0O 7C | EO FO 7C EO FO 12
Ctrl* EO 37 EO B7 EO 7C EO FO 7C
Shift* EO 37 EO B7 EO 7C EO FO 7C
Alt* 54 D4 84 FO B4

App-37



Table E-7 Scan codes with Alt key

Key Code set 1 Code set 2

top Shift Make Make

Pause | Common| E1 ID 45 E1 SD C5 El 14 77 E1 FO 14 FO 77
Ctrl* EO 46 EO C6 EO 7E EO FO TYE

*: This key generates only make codes.

App-38




Appendix F Key Layout

The arrow key markings for the T4700CS and T4700CT/T4800CT are different. The
T4700CS keyboard has contrast icons on the left and right arrow keys. The T4700CT/
T4800CT keyboard has no contrast control function.

F.1 United States (US) Keyboard

G AT o ol o Gl (i
N 8 [ uuqqgﬂw
.@.@DU.-U@UQI I
(0 O | G | | |

G | o e |2
(N 3 (3 | [

Figure F-1 USKeyboard

F.2 United Kingdom (UK) Keyboard

(C |8 (€2 |€°3 |3 \0 | |8 |8 | ey |\ e e |

| I | A0 [ |G A0 Y| 0 [ | e =
UG@GDIGGUULJHEim

T T
LJ%IM JUI@%MQH

Figure F-2 UK Keyboard

App-39



F.3 German (GR) Keyboard

1T UHLJLJLU uiu u@gngl o (TlTed

R || o e
C BT '

Figure F-3 GR Keyboard

F.4 French (FR) Keyboard

A A T e GG (it
IS {0 |G| GO O Y Y Y ey =
UU@JDIEJH“_JIEJHCJHUIUM;IJ&]IL =]
5 (G |G| G e |
LMMUIUHUIUMUQM = U |l
EEaa. Qe G

Figure F-4 FR Keyboard

App-40



F.5

F.6

Spanish (SP) Keyboard

LJLFIILJ L,Jl%j(rglluﬂ—ll@&—l@gl@a‘l&ﬂ
A
".@II@.IG.IIHIH
SN [V G |G |G | =y | [
EN|S|0 | | 8 3 3 o

Figure F-5 SP Keyboard

Italian (IT) Keyboard

f—l&giu&—_liﬂgﬂuu K—llf—ilggl FFF g:,g FFF Gl (=
IUID@u == (]
uuuuw || Jutl

5 e
1 8 o (| |
C 1= |

Figure F-6 IT Keyboard

App-41



F.7 Scandinavian (SC) Keyboard

Luiulu&glLAﬁuLuluMmgg&ﬂj =\
[ |8 |8 | Y | LJlLlLILlL]LJ

ULJLJLIUEIUDD Joe

@@
UML IUIM £ | | |

Figure F-7 SC Keyboard

F.8 Swiss-German (SL) Keyboard
|S3\cu|oy |y |cy o) |CF |G |3 &3 [en|on | || e= ]
H%@MHQQMMWWJQJH

(I (A |G G| | | uu =]

I |5\ | | ILJLI TR G

Figure F-8 S Keyboard

App-42



F.9 Canadian (Specialized) Keyboard

uuuluLwMuLu G e i (=i
EAELELE UU*‘UUULJq
UDDEDGIIJEDGDUWH
8 o 0 2 |
-IGIIDIID-
=S| "TI@.---

Figure F-9 Canadian Keyboard

F.10 Keycap Number Keyboard

(Luofluef Lo ey lusluey Ty Trof o oo Tz Tzef Lo [TuzeTizef
0\0(8100 e 00| |00 |0 = |
C T e ]
ElgnooEEnE oo Esc
[ | 3 | |6 i | [ | |
60 |3 |53 | | S |C) |8 |3 |0 |20

Figure F-10 Keycap Number Keyboard

App-43



Appendix G Wiring Diagrams

G.1 Printer Wraparound Connector

(9) +PD7 (15)
(8) +PD6 (14)
(7) +PD5 (13)
(6) +PD4 (16)
(5) +PD3 (1)

(10)
(4) +PD2 (12)
(3) +PD1 (17)
(2) +PDO (12)

Figure G-1 Printer Wraparound Connector

G.2 RS-232C Wraparound Connector

3)
(7)

(4)

TD
RTS

DTR

(2)
| (8)
1)
| (6)
9)

Figure G-2 RS-232C Wraparound Connector

G.3 RS-232C Direct Cable (9-Pin to 9-Pin)

3)
(4)

(7)
()
(2)
1)

(6)
(8)
(9)

TD
DTR

RTS
GND
RD
CD

DSR
CTS
RI

Figure G-3 RS232C Direct Cable (9-pin to 9-pin)

(@)

(6)
(8)
(9)

1)
()
3)
(7)
(4)

—ERROR
—-AUTFD
+SELECT
—PINIT

—STROBE
—-ACK

+PE
~SLIN
+BUSY

RD

CTS
CD

DSR
RI

RD

DSR
CTS
RI

CD
GND
TD
RTS
DTR

App-45



G4

RS-232C Direct Cable (9-Pin to 25-Pin)

1)
(2)
()
(4)

(5)
(7)

(6)
(8)
(9)

CD
RD
TD
DTR

GND
RTS

DSR
CTS
RI

(4)
)
®3)

®)
(6)
(22)

)
®)
(20)

RTS
TD
RD

CTS
DSR
RI

GND
CD
DTR

Figure G-4 RS-232C Direct Cable (9-pin to 25-pin)

App-46



Appendix H Deleting the Password

For security reasons, the Password Deletion Disk will not be distributed to Service Providers.
Y ou must obtain the current password from the computer's owner to service the machine.

If the owner forgets the password, contact your Toshiba representative for further action.

App-47



Appendix | BIOS Rewrite Procedures

This Appendix explains how to rewrite the system BIOS program when you update the
system BIOS.

Tools

To rewrite the BIOS, you need the following tool:

[0  BIOSrewriting disk for T4700CS/T4700CT/T4800CT

Rewriting the BIOS

1. Set the system to Boot Mode.
2. Turn off power to the T4700CS/T4700CT/T4800CT.
3.  Remove the external cable and PCMCIA card.

4. Turn on the power while holding down the F12 key. (Keep holding down the key
until the system speaker sounds a beep.)

5. When the message is displayed, insert the BIOS rewriting disk into the FDD.
Press Enter key to start BIOS rewriting.

6. When the BIOS rewriting is completed, gect the BIOS rewriting disk and press
the reset switch to restart the system.

App-49



App-50



